Tovw i Wic 3 Date: No.
'IQ: 3x —ly =3¢ - W*X:mglf-E |
A=(a,0) B(0,b) ny = mx —5
RRE: Y- B &
3X 21y 2 =P
7(:8 s Y1 = £ g
A s (8,0) 24
Yo it D Le N 4 Y-axi3,
Whe § X0 N el by zes
iy i = MN=0 M
YW= - b '
- & i (0,-6) w . | =2
e
o] 3x-2% = %Y k+y 2z o
Lﬁ_g %K"‘é k= 3 pod
Grediesd = ¢
30| px*+g =Y
le) A(£,0) B(oit) 9= pxird (2, ¥d)
AR = {(8-c)* +{o+e)* 48 = e +4
> Jbe+sL §p = &0
- ]T_Gg P?_g &
210wty p " Y= 5x3#E
_ uhew x=0
T me (R, e Y=g
= (¥ ,-3) . A= (6,8) &
2 | Gadsent of _OM2 T wo | 3= - k7
Uz — A% +¢ 22z 16
—6F KT 2b - iy
C= k >3 2
LA~ X XL

U-GRADE



U-RAD



